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TEST

1 Vergleiche. Setze <, >oder =ein. | Vergleiche. Setze <, > oder = ein. Ve}gleiche. Setze <, > oder = ein.
7 5 =20 5 =21 -12
-3 2 =3 =20 =17 7
0 =3 =11 = 5 =5 =(=3)
2 Vergleiche. Setze <, > oder =ein. | Vergleiche. Setze <, > oder =ein. | Vergleiche. Setze <, > oder = ein.
8§ °C =9 °C =57C 2°C€ =72 =17 °C
=]57C 0°C o gt 24 =12%C -120 € -50 €
=2:2C 2EC 40 € -50€ F135€ =31°C
3 S+7= -12+8 = =21 +(=12) =
—-15+7= —12+(-4) = =21+12 =
-4+7= 13+(-7) = 74(=13) =
4 3-6 = —13-3] = ~24 - (+42) =
-2-4 = =13=1(=31) = -24 - (-42) =
—8-5 = 12=(=8) = == (=21} =
5 4:5 = =58 = =7+(+9) =
67 = —6:(-N= -12-(=7) =
-2-10= 0-(=5= 9-(=11) =
6 18:6 = =213 = 910 : (=70) =
-20:4 = 45:(-9) = -840 : (-6) =
-22:2= -36:12 = 0:(=5) =

durée:




page ()

Nom : Classe : Date :
Branche : appui mathématiques
SOLUTION
¥ | Vergleiche. Setze <, >oder =ein. | Vergleiche. Setze <, > oder = ein. Ve;-gjeiche. Setze <, > oder = ein.
7 - 5 -20 < 5 =21 < =12
-3 < 2 =5 > =20 -17 < 7
0 > =1 =11 < =57 =3 < ={=95)
7.4 Vergleiche. Setze <, > oder =ein. | Vergleiche, Setze <, > oder =ein. | Vergleiche. Setze <, > oder = ein.
3. > -9 °C =5%€ | < 2°C = > -17°C
=33 = 0°C R e =12 C -120€ < =50 €
-2°C < 250 40 € > -50€ +13.9C > =31°€C
3 S+7= 12 -12+8 = = =21+(=12) = -33
=47 = -8 —12+(-4)= -1I6 = bz v D = =9
-4+7= 3 13+(-7) = 6 7+(-13)= -6
4 =6, | =3 =13=31 = =4 =24 —(+42) = —66
-2-4 = ' =13 =(=31) = 18 -24 - (=42) = 18
—8-5= -13 12-(-8) = 20 -21-(-27) = 0
5 4:5 = 20 -5 8 = =40 -7-(+9) = =63
67 = -42 -6 (-N= 42 -12-¢-7) = &4
-2-10= -20 0-(-5)= @ 9-(=11) = -99
6 18:6 = ? =213 =y 910: (=70)= 13
-20:4 = =3 45:(-99= -§ -840:(=6) = 140
=22:42= =11 -36:12 = =3 0:(=5) = 0




